STEERING & SUSPENSION PARTS

Aluo sesodind uollewlopu| 10) pasn aie Juawniop siyi u E}EP pUE Siaquinu jied ‘s sap jonpoud ||v
|2ewe 1bjig acapes 2|48 Je|ejewinu edled ‘Lejewueyide unun wm epuewnyop ng %k

SINILI M3N



TEKNOROT REF: B-1028 O cenasor MW

Suspension Control Arm and Xdrive
Ball Joint Assembly

Weight: 1055 Length: 267  Bolt Metric: M14X1,5

Front Right

1-SERIES F20, F21 2012-2019 | ool 51126854728
TEKNOROT REF. B-1028
Suspension Control Arm and Xdrive

Ball Joint Assembly

Weight: 1055 Length: 287  Bolt Metric: M14X1,5 St

Front Right
Lower Rearward

2-SERIES F22.F87 2014- 311266854728

SB35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 1



TEKNOROT REF: B-1028  eenaeo MW

Suspension Control Arm and Xdrive
Ball Joint Assembly

Weight: 1055 Length: 267  Bolt Metric: M14X1,5

Front Right
3-SERIES F30 2012-2018 | ower Pearward 31126854728

Suspension Control Arm and Xdrive
Ball Joint Assembly

Weight: 1055 Length: 267  Bolt Metric: M14X1,5

Front Right
Lower Rearward

4-SERIES F32 2014- 311266854728

SB35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 2



TEKNOROT REF: B-1029 O cenasor MW

Suspension Control Arm and Xdrive
Ball Joint Assembly

Weight: 1055 Length: 267  Bolt Metric: M14X1,5

Front Left Lower

1-SERIES F20, F21 2012-2019 cearward 531126854727
TEKNOROT REF. B-1029
Suspension Control Arm and Xdrive

Ball Joint Assembly

Weight: 1055 Length: 287  Bolt Metric: M14X1,5 St

Front Left Lower
2-SERIES F22F87 2014- Pearward 51126854727

SB35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 3



TEKNOROT REF: B-1029  eenaeo MW

Suspension Control Arm and Xdrive
Ball Joint Assembly

Weight: 1055 Length: 267  Bolt Metric: M14X1,5

Front Left Lower
3-SERIES F30 2012-2018 Pearward 31126854727

s | |

Suspension Control Arm and Xdrive
Ball Joint Assembly

Weight: 1055 Length: 267  Bolt Metric: M14X1,5

Front Left Lower
4-SERIES F532 2014- Pearward 51126854727

SB35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 4



4 ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. B-10282
Suspension Control Arm

Weight: 3066  Length: 299
MODEL NO BODY CODE
5-SERIES FI0F11
COMPONENTS NUMBER
% 3 SB 1289
- SB 1349

TEKNOROT REF. B-10282
Suspension Control Arm

Oy

Weight: 3066  Length: 299
MODEL NO BODY CODE
6-SERIES FOBF12F13
COMPONENTS NUMBER
% 3 5B1289
bt SB1349

Xdrive

ADAPTABLEFOR BMW

OEMNO

31126850606, 31126777744

OEMNO

31106861178% 51106661177*

31126777740%, 31126777739*

ADAPTABLEFOR BMW

YEAR DIRECTIONS
2010-2016 Front Right
Lower Rearward
NAME DIRECTIONS
Control Arm Front Lower
Bushing Inner
Control Arm Front Lower
Bushing Rearward Outer
Xdrive
YEAR DIRECTIONS
2011-2016 Front Right
Lower Rearward
NAME DIRECTIONS
Control Arm Front Lower
Bushing Inner
Control Arm Front Lower
Bushing Rearward Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

31126850606, 31126777744

OEMNO

31106661178 311066861177*

311267777407, 31126777739*



ga 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: B-10292 ADAPTABLEFOR BMW
Suspension Control Arm Xdrive

Weight: 3066  Length: 299

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
5-SERIES FI0FII 2010-2016 el 31126850605, 31126777743
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- 5B 1289 Control Amn Front Lower 31106861178* 31106861177
2 Bushing Inner
& SB 1349 Control Amn Front Lower 31126777740% 31126777739
< Bushing Rearward Outer
TEKNOROT REF: B-10292 ADAPTABLEFOR BMW
Suspension Control Arm Xdrive
Weight: 3066  Length: 299
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
6-SERIES FOBF12F13 2011-2016 il 31126850605, 31126777743
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- SB.1289 ControlArm | Front Lower 31106861178* 31106661177*
Z Bushing Inner
&~ 5B 1349 Lontrol Arm Front Lower 31126777740% 31126777739*
Bushing Rearward Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. B-10361 ADAPTABLEFOR BMW

Suspension Control Arm and Xdrive
Ball Joint Assembly

2

Weight: 3129  Length: 3055

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. FO1, FO2, FO3 ) Front Right
7-SERIES ey 2008-2016 | ool 31126777740
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
> SB 1289 tontrol Arm Front Lower 31106861178* 31106861177+
2 Bushing Inner
~ SB 1349 tontrol Arm Front Lower 31126777740 31126777739*
s Bushing Rearward Outer
TEKNOROT REF: B-10391 ADAPTABLEFOR BMW
Suspeqs/an Control Arm and Xdrive
Ball Joint Assembly

Weight: 3129  Length: 305,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
FO1, FO2 FO3 Front Left Lower
7-SERIES oy 2008-2016 sl 31126777739
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- SB 1289 Lontrol Arm Front Lower 31106861178* 31106861177*
Z Bushing Inner
&~ 5B 1349 Lontrol Arm Front Lower 31126777740% 31126777739*
Bushing Rearward Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. B-406 ADAPTABLEFOR BMW
Steering Center Link only 535, 540, M5

Weight: 2873  Length: 600  Bolt Metric: M12X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
5-SERIES E39 1995-2003 Front 32211096059, 31211091720
TEKNOROT REF: FO-1098 ADAPTABLEFOR ORI
Suspension Control Arm and
Ball Joint Assembly

Weight: 2778  Length: 348

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
FIESTA % 2017 L ower HI1BC3042AD
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ FO-234 Ball Joint Front Lower 1540724* 1751955% 1751952*
SB 263
SB 1224

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: FO-1099 ADAPTABLEFOR FORD

Suspension Control Arm and
Ball Joint Assembly

Weight: 2778  Length: 348

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
FIESTA v 2017- Front Left Lower H1BC3051A0
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ FO-234 Ball Joint Front Lower 1540724* 1751955* 1751952*
SB 263
SB 1224
TEKNOROT REF: FO-1254 soreaBLEFoR FORLD
Suspension Ball Joint for ride height pack "

Weight: 0317  Length: 30  Bolt Metric: M14X2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RANGER TKE 2011-2019 Front Upper EB3C3091B2B* EB3C3084B16*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: GZ-100
Suspension Ball Joint
-

Weight: 1068 Length: 111  Bolt Metric: M20X15

MODEL NO BODYCODE ~ YEAR  DIRECTIONS OEMNO

GAZELLE 1994- Front Lower AR2IR232904314
TEKNOROT REF: LA-252 ADAPTABLEFOR | AND ROVER
Steering Tie Rod End Chassis no. from:

@ FA527249

D

Weight: 07685 Length: 1166  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RANGE ROVER SPORT Il L494 2013- Front LRO59261

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: LA-252 ApApTABLEFOR [ AND ROVER
Steering Tie Rod End

Weight: 0785 Length: 1166  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
DISCOVERY % 2016- Front LRO59261
TEKNOROT REF. LA-252 ADAPTABLEFOR | AND ROVER

Steering Tie Rod End Chassis no from FA231556

Weight: 07685 Length: 1166  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RANGE ROVER L405 2012- Front LRO59261

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-1018 ADAPTABLEFOR MERCEDES

Suspension Control Arm and ONLY FOR 109/111
Ball Joint Assembly

ary

Weight: 7047  Length: 404  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
vito W447 2014 L ower 4473303500
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
*®
& M-615 Ball Joint Front Lower 4473330127
SB 834
5B 1280
TEKNOROT REF: M-1018 ADAPTABLEFOR MERCEDES
Suspension Control Arm and ONLY FOR 109/111
Ball Joint Assembly

Weight: 7047  Length: 404  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
VIANO w447 2014 L ower 4473303500
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
@
k M-615 Ball Joint Front Lower 4473330127
5B 3834
SB 1280

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-1019 ADAPTABLEFOR MERCEDES

Suspension Control Arm and ONLY FOR 109/111
Ball Joint Assembly

ary

Weight: 7047  Length: 404  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
vito W447 2014- Front Left Lower 4473303400
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
*®
s M-615 Ball Joint Front Lower 4473330127
SB 834
5B 1280
TEKNOROT REF: M-1019 ADAPTABLEFOR MERCEDES
Suspension Control Arm and ONLY FOR 109/111
Ball Joint Assembly

Weight: 7047  Length: 404  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
VIANO Wa47 2014- Front Left Lower 4473303400
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
@
k M-615 Ball Joint Front Lower 4473330127
SB 934
SB 1280

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-1031 ADAPTABLEFOR MERCEDES
Steering Tie Rod End

Weight: 0651 Length: 96  Bolt Metric: M16X1,5  Housing Metric: M24X1.5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

G-CLASS W463 1997-2018  Front Right Inner 4634631115*
TEKNOROT REF: M-1032 ADAPTABLEFOR MERCEDES
Steering Tie Rod End

Weight: 0651 Length: 96  Bolt Metric: M16X1,5  Housing Metric: M24X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

G-CLASS W463 1997-2018 Front Left Inner 4634651115*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: M-397 ADAPTABLEFOR MERCEDES
Lateral Arm

Weight: 066  Length: 314

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Rear Lower
SLK-CLASS R172 2011-2019 Forward 1723500306
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
< SB 1111 Lateral Am Rear Upper 1723500206
, Bushing Rearward
< SB1110 Lateral Arm Rear Upper 1723500206*
Bushing Rearward
TEKNOROT REF: 0-988 ADAPTABLEFOR (JPEL
Suspension Control Arm and

Ball Joint Assembly

Weight: 2838  Length: 3121

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
HARL Cl6 2015 Lower 95368368
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
8 0-984 Ball Joint Front 95868367+ *352556, 953668366*
5B 1294
561295

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: 0-989 ADAPTABLEFOR (JPEL

Suspension Control Arm and
Ball Joint Assembly

Weight: 2838  Length: 3121

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
KARL C16 2015- Front Left Lower 95368367
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
8 0-984 Ball Joint Front 95368367%, *352556, 95568368*
SB 1294
SB 1295

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
{5 TXNOROT

TEKNOROT REF: 8B 1349
control Arm Bushing

Weight: 0253  Length: 71

MODEL NO BODY CODE YEAR
7-SERIES FOLIZI0S 200g-2018
COMPONENTS NUMBER NAME
) Suspension
w B-10262 Control Arm
: Suspension
M B-10262 Control Arm
Suspension
y* B-10381 Control Arm and
Ball Joint
Suspension
S B-10391 Control Arm and
Ball Joint

Xdrive

ADAPTABLEFOR BMW

DIRECTIONS

Front Lower
Rearward Outer
DIRECTIONS

Front Right
Lower Rearward

Front Left Lower
Rearward

Front Right
Lower Rearward

Front Left Lower
Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

31126777740% 31126777739*

OEMNO

31126850606, 31126777744

31126850605, 31126777743

31126777740

31126777739



; STEERIN LD’SUDMER:’: 2020 January
TEKNOROT REF: V-1018  ownacer VOLKSWAGEN

Suspension Control Arm and Heavy Duty
Ball Joint Assembly

Weight: 762 Length 418

. Front Right
CRAFTER I 2017 | ower 2NO407152F
561233
561223

TEKNOROT REF: V-10181

Suspension Control Arm and
Ball Ja/htAssemb/y |

Weight: 7605 Length 418

Front Right
CRAFTER i 2017 L ower 2N0407152)
SB 1231
SB 1233

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 18




; STEERIN LD’SUDMER:’: 2020 January
TEKNOROT REF: V-1019  ownacer VOLKSWAGEN

Suspension Control Arm and Heavy Duty
Ball Ja/htAssemb/y |

Weight: 762 Length 418

CRAFTER 1l 2017- Front Left Lower 2NO407151F
SB 1233
SB 1223

TEKNOROT REF: V-10191

Suspension Control Arm and
Ball Ja/htAssemb/y |

Weight: 7605 Length 418

CRAFTER n 2017- Front Left Lower 2ZN0407151)
561231
561233

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 19




A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: H-1053
Steering Tie Rod

e

Weight: 0534  Length: 2529  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

52000 1999-2009 Front

TEKNOROT REF: HY-1018

Suspension Control Arm and
Ball Joint Assembly

&

Weight: 4042  Length: 324  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
TIBURON 1997-2001 L ower
COMPONENTS NUMBER NAME DIRECTIONS
‘ HY-525 Ball Joint Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

nuary

ADAPTABLEFOR HIONIDA

OEMNO

5301052A0083

ADAPTABLEFOR HYUNLDA/

OEMNO

5450129500, 5450125000,
5450127000

OEMNO

54501200007, 5450358A00*



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: HY-1018

Suspension Control Arm and
Ball Joint Assembly

=

Weight: 4042  Length: 324  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
COUPE 1996-2002 L ower
G'UMPUNEN 758 NUMBER NAME DIRECTIONS
& HY-525 Ball Joint Front Lower
TEKNOROT REF: HY-1018
Suspension Control Arm and
Ball Joint Assembly
Weight: 4042  Length: 324  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR DIRECTIONS
3 Front Right
ELANTRA J2/RD 1995-2000 L ower
COMPONENTS NUMBER NAME DIRECTIONS
Ball Joint Front Lower

‘ HY-525

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

anuary

ADAPTABLEFOR HYUNLDA/

OEMNO

5450129500, 5450125000,
5450127000

OEMNO

54501200007, 5450338A00*

ADAPTABLEFOR HYUNLDA/

OEMNO

5450129500, 5450125000,
5450127000

OEMNO

54501200007, 5450358A00*



TEKNOROT REF: HY-1019 ADAPTABLEFOR HYUINDA/

Suspension Control Arm and
Ball Joint Assembly

-

Weight: 4042  Length: 324  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
5450029500, 5450029000,
TIBURON 1997-2001  Front Left Lower 5450027000
G'OMPUNE/VTS NUMBER NAME DIRECTIONS OEM NO
& HY-525 Ball Joint Front Lower 5450120000%, 54503368A00*

TEKNOROT REF. HY-1019 ADAPTABLEFOR HYUNDA/
Suspension Control Arm and
Ball Joint Assembly

-

Weight: 4042  Length: 324  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
54500239500. 54500239000,
COUPE 1996-2002  Front Left Lower 5450027000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ HY-525 Ball Joint Front Lower 5450120000%* 5450338A00*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: HY-1019 ADAPTABLEFOR HYUINDA/

Suspension Control Arm and
Ball Joint Assembly

-

Weight: 4042  Length: 324  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
5450029500, 54500239000,
ELANTRA J2/RD 1995-2000  Front Left Lower 5450027000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Q HY-525 Ball Joint Front Lower 545012C0000%* 5450338A00*
TEKNOROT REF: HY-10182 ADAPTABLEFOR. HYUNDA/I
Lateral Arm

G

Weight: 0668  Length: 4065

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

5520225000, 55620225100,

ACCENT I 2000-2005 Rear Right 5500995103

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



T
1\} TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: HY-101892 ADAPTABLEFOR HYUNDA/
Lateral Arm

G

Weight: 0668  Length: 40685

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
5520125000, 5520125100,
ACCENT I 2000-2005 Rear Left CEo0195103
TEKNOROT REF: I-918 ADAPTABLEFOR [SLJZL/
Suspension Control Arm and
Ball Joint Assembly

Weight: 3135  Length: 320  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
O-MAX 2012 Upper 8979458412
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ I-104 Ball Joint Front 83972357770, 8980058270

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 1-919 ADAPTABLEFOR [SUZU

Suspension Control Arm and
Ball Joint Assembly

Weight: 3135  Length: 320  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 2012- Front Left Upper 8979458422
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ -104 Ball Joint Front 8972357770 8960058270
TEKNOROT REF: MA-808 ADAPTABLEFOR MIAZ DA
Suspension Control Arm and : R

Ball Joint Assembly

|

Weight: 1,79  Length: 303
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

DEMIO 1996-2003 Front Right D20134300E

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: MA-909 ADAPTABLE FOR MAZDA

Suspension Control Arm and
Ball Joint Assembly

Weight: 1,79  Length: 303

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
DEMIO 1996-2003 Front Left D20134350A
TEKNOROT REF: MI-728 ADAPTABLEFCRMIITSUB/SHY
Suspension Control Arm and W0
Ball Joint Assembly

>
Weight: 23988  Length: 288  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
1200 2000-2005 " ‘z’jg gfm MR241024
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ e, MI-644 Ball Joint Front Upper MB176309

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING &8 SUSPENSION PARTS

\ TeCNOROT

TEKNOROT REF: MI-728 ADAPTABLEFOR MIITSUBISHI

Suspension Control Arm and 2W0
Ball Joint Assembly

=~
L
Weight: 2968  Length: 268  Bolt Metric: M14X15
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
L200 19897-2000 Upper MR241024
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
‘ o MI-644 Ball Joint Front Upper MBI176309
TEKNOROT REF: MI-729 ADAPTABLEFCRIMIIT SUBISHY
Suspension Control Arm and W0

Ball Joint Assembly

Weight: 23988  Length: 288  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
L200 2000-2005  Front Left Upper MR241023
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ e, MI-644 Ball Joint Front Upper MB176309

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A T=
\} TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF.: MI-729 ADAPTABLEFOR MIITSUBISHI

Suspension Control Arm and 2W0
Ball Joint Assembly

Weight: 29588  Length: 288  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
L200 1997-2000  Front Left Upper MR241023
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ o MI-644 Ball Joint Front Upper MBI176309
TEKNOROT REF: MI-748 ADAPTABLEFOR MITSUBISH/
Suspension Control Arm and
Ball Joint Assembly

Weight: 3644  Length: 342

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
OUTLANDER I 2001-2006 Fr ‘i’; %‘;’m MRIB1392 40134132, MN101742
COMPONENTS NUMBER NAME — DIRECTIONS OEMNO
Q MI-734 SUSDQJZ%‘?” bl Front 4013A443% 1612753380% 40134444

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




(\ TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: MI-749 ADAPTABLEFOR MIITSUBISHI

Suspension Control Arm and
Ball Joint Assembly
3

Weight: 3644  Length: 342

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
OUTLANDER / 2001-2006  FrontLeftLower — MR9IE1391 40134131, MN1O1741
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Q MI-734 S”SDEJZ%‘;” Bal Front 4013A443* 1612753360 4013A444*
TEKNOROT REF: MI-758 ADAPTABLEFOR MIITSUBISH/
Suspension Control Arm and 4x2
Ball Joint Assembly

Weight: 4039  Length: 374  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
L200 2000-2005 " o Z‘L/me MR296028, MR241026

COMPONENTS NUMBER NAME DIRECTIONS OEMNO
. & MI-785 SUSDQJZ%‘?” Bal | Front Lower MR296027*, MR296028"*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: MI-759 ADAPTABLEFOR MIITSUBISHI

Suspension Control Arm and 4x2
Ball Joint Assembly

Weight: 4039  Length: 374  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
L200 2000-2005  Front Left Lower MR296027, MR241025
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
i .
B mi-zgs | UPEIEONEEL L pont L ower MR296027* MR296028*
TEKNOROT REF: N-1023 ADAPTABLEFOR NISSAN
Steering Tie Rod

(_.

Weight: 0595 Length: 320  Bolt Metric: M14X15  Housing Metric: M16X1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ALTIMA L31 2001-2006 Front Inner 485217Y000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF. N-195K

Suspension Ball Joint Kit

9

bobé

Weight: 0625

MODEL NO

CABSTAR

TEKNOROT REF. N-268

with nuts

ADAPTABLEFOR NIISSAN

BODY CODE YEAR DIRECTIONS

(E) 1998-2006 Front Upper

Suspension Control Arm and

Ball Joint Assembly

Weight: 3512  Length: 334
MODEL NO

SENTRA

COMPONENTS

OEMNO

401109X502

ADAPTABLEFOR NISSAN

BODY CODE YEAR DIRECTIONS
b6 o007-2012  TTOMERONE
Lower
NUMBER NAME DIRECTIONS
N-854 Ball Joint Front Lower
SB716
SB 717

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

54500ETO0B

OEMNO

545011KA0B*, 545001KA0B*



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF.: N-269 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 3512  Length: 334

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO
SENTRA B16 2007-2012  Front Left Lower 54501ETO0B
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
P
é N-854 Ball Joint Front Lower 545011KADB*, 545001KAOB*
SB716
SB717
TEKNOROT REF: N-298 ApAPTABLEFOR MISSAN
Suspension Control Arm and

Ball Joint Assembly

Weight: 34  Length: 420  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MAXIMA A34 2004-2008 Fr ‘Z’; %‘;’m 545007Y00A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. N-298

Suspension Control Arm and
Ball Joint Assembly

Weight: 34  Length: 420  Bolt Metric: M14X1,5
MODEL NO BODY CODE
ALTIMA L31

TEKNOROT REF: N-299

Suspension Control Arm and
Ball Joint Assembly

Weight: 34  Length: 420  Bolt Metric: M14X1,5
MODEL NO BODY CODE
MAXIMA A34

YEAR

2001-2006

YEAR

2004-2008

anuary

ADAPTABLEFOR NIISSAN

DIRECTIONS

Front Right
Lower

OEMNO

545007Y00A

ADAPTABLEFOR NISSAN

DIRECTIONS

Front Left Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

545017Y00A



A TXNOROT

TEKNOROT REF.: N-299 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 34  Length: 420  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ALTIMA L51 2001-2006  Front Left Lower 545017Y00A
TEKNOROT REF: SB 1084 ADAPTABLEFOR HONLDA
Control Arm Bushing

Weight: 1418  Length: 85,7

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right " "
CR-V v 2012-2018 Lower Outer 51360T1GEOI* 51350T1GE1]
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
r H-439 Control Arm and | Front Right 51350T0AAD2
Ball Joint Assy Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1085
control Arm Bushing

Weight: 1418 Length: 85,7
MODEL NO BODY CODE YEAR DIRECTIONS
CR-V v om1z-2018 T OO
COMPONENTS NUMBER NAME DIRECTIONS
X H-439 ng;%ﬁ grgsasf;d Front Left Lower

TEKNOROT REF: 8B 1086
Control Arm Bushing

Weight: 0567 Length: 166

MODEL NO BODY CODE YEAR DIRECTIONS
CR-V v 0122008 OO
COMPONENTS NUMBER NAME DIRECTIONS
4 45 i | Cgmamary | g

X H-439 ng;ﬂ.ﬁgjsf;d Front Left Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

nuary

ADAPTABLEFOR HIONIDA

OEMNO

61360T16GEOI*, 51350T1GE1T*

OEMNO

51360TOAADZ

ADAPTABLEFOR HIONIDA

OEMNO

51360TIGEOI* 61350T1GEIT™*

OEMNO

51350TOAADZ

51360TOAADZ



STEERING &8 SUSPENSION PARTS

4 ) TXNOROT

TEKNOROT REF: §B 1338

Lateral Arm Bushing

Weight: 0153 Length: 44,7

MODEL NO

130

COMPONENTS

-

—

BODY CODE YEAR DIRECTIONS
6o 2011-2017 Rear Upper
Forward
NUMBER NAME DIRECTIONS
HY-10082 Lateral Arm Rear Upper
Forward

TEKNOROT REF: 8B 1338

Lateral Arm Bushing

AT,

el
g

| -

Weight: 0153  Length: 44,7

MODEL NO

CEED

COMPONENTS

-

Y

ADAPTABLEFOR HYUNLDA/

OEMNO

55250A600%

OEMNO

55250A600

ADAPTABLEFOR HA

BODY CODE YEAR DIRECTIONS
I oo12-2018  REertoper
Forward

NUMBER NAME DIRECTIONS
Hy-10082 Lateral Arm Rear Upper
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

556250A600*

OEMNO

55250A600



TEKNOROT REF.: SU-648 ADAPTABLEFOR SUBARU

Suspension Control Arm and
Ball Joint Assembly

Weight: 4203  Length: 3725  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Right
FORESTER (S]] 2014- | ower 2020256001, 202025G000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
é SU-415 Ball Joint Front Lower 20202AJ05A%, 20202A104A*
TEKNOROT REF: SU-648S ADAPTABLEFOR SUBARU

Suspension Control Arm

Weight: 3927  Length: 3725

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

Front Right

2020256001, 2020256000
Lower

FORESTER (51] 2014-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF.: SU-649 ADAPTABLEFOR SUBARU

Suspension Control Arm and
Ball Joint Assembly

Weight: 4203  Length: 3725  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
FORESTER (S]] 2014- Front Left Lower 2020256011, 2020256010
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
é SU-415 Ball Joint Front Lower 20202AJ05A%, 20202A104A*
TEKNOROT REF. SU-649S ADAPTABLEFOR SUBARLU

Suspension Control Arm

Weight: 3927  Length: 3725

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FORESTER (57 2014- Front Left Lower 2020256011, 2020256010

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. SU-658 ADAPTABLEFOR SUBARU

Suspension Control Arm and
Ball Joint Assembly

B

=]

Weight: 373  Length: 362  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LEGACY IV BL BP o003-2008  TOTLRON 2020246020
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
é SU-415 Ball Joint Front Lower 20202AJ05A% 20202AJ04A*

TEKNOROT REF. SU-658 ADAPTABLE FOR S{JBARL
Suspension Control Arm and
Ball Joint Assembly

Weight: 373  Length: 362  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
OUTBACK 3rd Gen 2005-2009 Fr ‘i’; %ﬁ’m 2020246020
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
#
Q SU-415 Ball Joint Front Lower 20202A105A%*, 20202A104A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: SU-659 ADAPTABLEFOR SUBARU

Suspension Control Arm and
Ball Joint Assembly

Weight: 373  Length: 362  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LEGACY IVBL, BP 2003-2008  Front Left Lower 20202AG03D
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
é SU-415 Ball Joint Front Lower 20202AJ05A%* 20202A104A%
TEKNOROT REF. SU-659 ADAPTABLEFOR SUBARU
Suspension Control Arm and
Ball Joint Assembly

Weight: 373  Length: 362  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
OUTBACK 3rd Gen 2005-2009  Front Left Lower 20202AG030
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
&
Q SU-415 Ball Joint Front Lower 20202A105A% 20202AJ04A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF. SU-659S ADAPTABLEFOR SUBARU
Suspension Control Arm

Weight: 3454  Length: 362

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
LEGACY IVBL, BP 2003-2008  Front Left Lower 20202A6030*
TEKNOROT REF: SU-659S ADAPTABLEFOR SUBARU
Suspension Control Arm

Weight: 3454  Length: 362

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

OUTBACK 3rd Gen 2005-2009  Front Left Lower 20202AG030*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: T-1031 ADAPTABLEFOR TOYOTA
Steering Tie Rod End

SR

Weight: 0641 Length: 165  Bolt Metric: M12X1,25  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
PRIUS Xv40 2016- Front Right 4504649255
TEKNOROT REF: T-1032 ADAPTABLEFOR TOYOTA
Steering Tie Rod End

o

Weight: 0641  Length: 165  Bolt Metric: M12X1,25  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PRIUS XV40 2016- Front Left 4504749195

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: T-1078

Suspension Control Arm and
Ball Joint Assembly

=

Weight: 6632  Length: 371  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR

HIACE v 1999-2006

TEKNOROT REF: T-1079

Suspension Control Arm and
Ball Joint Assembly

Weight: 6632  Length: 371  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR

HIACE v 1999-2006

ADAPTABLEFOR TQYOTA

DIRECTIONS

Front Right
Upper

OEMNO

4806629075

ADAPTABLEFOR TQYOTA

DIRECTIONS

Front Left Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

4806729075




TEKNOROT REF. T-1088

Suspension Control Arm and
Ball Joint Assembly

ZN
®

Weight: 6894  Length: 371  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR

HIACE Vv 2007 -

TEKNOROT REF: T-1089

Suspension Control Arm and
Ball Joint Assembly

T

Weight: 6694  Length: 371  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR

HIACE % 2007 -

ADAPTABLEFOR TQYOTA

DIRECTIONS

Front Right
Upper

OEMNO

4806629225

ADAPTABLEFOR TQYOTA

DIRECTIONS

Front Left Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

4806729225




/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: BU-198 ADAPTABLEFOR BUICK

Suspension Control Arm and FWD
Ball Joint Assembly

Weight: 3724  Length: 354  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
TERRAZA 2005-2007 Lower 15218622
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
‘t&: CH-604 Ball Jairt FrontLower | C96852964, 96852964, 13258056
TEKNOROT REF. BU-198 ADAPTABLEFOR GHEVROLET
Suspension Control Arm and FWD
Ball Joint Assembly

Weight: 3724  Length: 354  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
UPLANDER 2005-2008 Lower 15218622
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i o CH-604 Ball Joint Front Lower 096852964, 96852964, 132568056

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/
1\} i Eﬁgﬂgﬁg I

TEKNOROT KEF. BU-198
Suspension Control Arm and FWD
Ball Joint Assembly
Weight: 3724 Length: 354  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
RELAY 2005-2007 Lower
COMPONENTS NUMBER NAME DIRECTIONS
‘ ‘.3,-‘ CH-604 Ball Joint Front Lower
TEKNOROT REF: BU-198S
Suspension Control Arm FWD
Weight: 2977  Length: 354
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
TERRAZA 2005-2007 Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

nuary

ADAPTABLEFOR SATURN

OEMNO

15218622

OEMNO

0966852964, 96852964, 153256056

ADAPTABLEFOR BIIICK

OEMNO

15218627



ga 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. BU-198S ADAPTABLEFOR CHEVROLET
Suspension Control Arm FWD

Weight: 23977  Length: 354

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
UPLANDER 2005-2008 Lower 15218622
TEKNOROT REF. BU-198S5 ADAPTABLEFOR SATURN
Suspension Control Arm FWD

Weight: 2977  Length: 354

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
RELAY 2005-2007 Lower 15218622

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: BU-199 ADAPTABLEFOR BUICK

Suspension Control Arm and FWD
Ball Joint Assembly

Weight: 3724  Length: 354  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TERRAZA 2005-2007  Front Left Lower 15218621
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
‘t&: CH-604 Ball Joint FrontLower | C96852964, 96852964, 13258056
TEKNOROT REF: BU-199 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and FWD

Ball Joint Assembly

Weight: 3724  Length: 354  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

UPLANDER 2005-2008  Front Left Lower 15218621

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
3 i CH-604 Ball Joint Front Lower 096852964, 96852964, 13258056

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: BU-199 ADAPTABLEFOR SATURN

Suspension Control Arm and FWD
Ball Joint Assembly

Weight: 3724  Length: 354  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RELAY 2005-2007  Front Left Lower 15218621
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
‘ ‘.,f,.‘ CH-604 Ball Joint Front Lower 096852964, 96652964, 13256056
TEKNOROT REF: BU-199S5 ADAPTABLEFOR BLIICK
Suspension Control Arm FWD

Weight: 2977  Length: 354

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TERRAZA 2005-2007  Front Left Lower 15218621

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ga 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT KEF. BU-199S ADAPTABLEFOR CHEVROLET
Suspension Control Arm FWD

Weight: 23977  Length: 354

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

UPLANDER 2005-2008  Front Left Lower 15218621
TEKNOROT REF. BU-199S8 ADAPTABLEFOR SA TURN
Suspension Control Arm FWD

Weight: 2977  Length: 354

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RELAY 2005-2007  Front Left Lower 15218621

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF. CDO-163 ADAPTABLEFOR CADILLAC
Steering Tie Rod

Weight: 0666 Length: 270  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

XT5 2017- Front 25214223

TEKNOROT REF: CO-163 ADAPTABLEFOR GMIG
Steering Tie Rod

Weight: 0686  Length: 270  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ACADIA 2nd Gen 2017- Front 23214223

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ga 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CD-173 ADAPTABLEFOR CADILLAC
Steering Tie Rod

-‘-‘.

Weight: 061 Length: 233  Bolt Metric. M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Ccr6 1stGen 2016- Front 23183694
TEKNOROT REF: CD-183 ADAPTABLEFOR GADILLAC
Steering Tie Rod Inner. AWD

Weight: 047  Length: 107  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CTS 2nd Gen 2008-2014 Front 19177441

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CDO-183
Steering Tie Rod

Weight: 047  Length: 107  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR
S7S 1st Gen 2005-2011
TEKNOROT REF. CH-1024
Suspension Ball Joint
@
¥
9
Weight: 0426  Length: 1078  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR
TAHOE GMTK2UC/G 2015-2020

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Housing Metric: M16X1,5

nuary

ADAPTABLEFOR CADILLAC

DIRECTIONS

OEMNO

Front 19177441

ADAPTABLEFOR CHEVROLET

DIRECTIONS

OEMNO

28420264 84479375%, 23420263,

Front Upper 04479374



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CH-1024
Suspension Ball Joint

-

e

v 4
—

Weight: 0426  Length: 1078  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
23420264%* 84473375%* 234202637,
YUKON 2016-2018 Front Upper 04479374+
TEKNOROT REF. CH-1032 ADAPTABLEFOR GADILLAC
Steering Tie Rod End hybrid version

@ YEAR ONLY

-

2009-2013

Weight: 067  Length: 1016  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ESCALADE Jrd Gen 2007-2014 Front Outer 15895646
GMTI00

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-1032 ADAPTABLEFOR GHEVROLET
Steering Tie Rod End hybrid version
@ YEAR ONLY

2009-2013

Weight: 067 Length: 101,6  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
2nd Gen,

SILVERADO 1500 GMTI00 2007-2013 Front Outer 15895646
TEKNOROT REF: CH-1032 ADAPTABLEFOR GHEVROLET
Steering Tie Rod End hybrid version

- YEAR ONLY

-

2008-2013

Weight: 067  Length: 1016  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TAHOE Jrd Gen 2007-2014 Front Outer 15895646
GMTI00

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: CH-1032 ADAPTABLEFOR GMIC
Steering Tie Rod End hybrid version
3 YEAR ONLY

-

2009-

Weight: 067 Length: 101,6  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
2nd Gen,
SIERRA 1500 GMTI00 2007-2013 Front Outer 15895646
TEKNOROT REF: CH-1032 ADAPTABLEFOR GMIG
- YEAR ONLY

-

2008-2013

Weight: 067  Length: 1016  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

YUKON 3rd Gen 2007-2014 Front Outer 15895646

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: CH-1038

Suspension Control Arm and
Ball Joint Assembly

> , S ¥

Weight: 3256  Length: 376
MODEL NO BODY CODE
COBALT
COMPONENTS NUMBER
‘ t:: CH-774
calfiiso SB1352
0 S5B1353

TEKNOROT REF: CH-1038

Suspension Control Arm and
Ball Joint Assembly

Weight: 3256  Length: 376
MODEL NO BODY CODE
HHR 1stGen
COMPONENTS NUMBER
8 ::: CH-774
o " o] SB1352
xy SB1353

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ALUMINUM TYPE
YEAR DIRECTIONS
2005-2010 Front Right
Lower
NAME DIRECTIONS
Ball Joint Front Lower
Control Arm Front Lower
Bushing Inner
Control Arm Front Lower
Bushing Inner
ALUMINUM TYPE
YEAR DIRECTIONS
2006-2011 Front Right
Lower
NAME DIRECTIONS
Ball Joint Front Lower
Control Arm Front Lower
Bushing Inner
Control Arm Front Lower
Bushing Inner

ADAPTABLEFOR GHEVROLET

OEMNO

15787555

OEMNO

25984680~ 26984681

15787555% 15767556*

1578756565 15787556*

ADAPTABLEFOR GHEVROLET

OEMNO

15787555

OEM NO

258964680%, 25964681*

157875565 15787556*

157875565% 15787556*



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF. CH-1039
Suspension Control Arm and

Ball Joint Assembly

s
B ¢
0 £ i

s

\O

Weight: 3,256
MODEL NO

Length: 376

COBALT

COMPONENTS

o

ey =
65

BODY CODE

NUMBER

CH-774

SB1352

5B1353

TEKNOROT REF: CH-1039
Suspension Control Arm and

Ball Joint Assembly

- K
- @ g’ A
TEE » YQ

@

Weight: 3256  Length: 376
MODEL NO

HHR

COMPONENTS

o

collie
oo

BODY CODE

1stGen

NUMBER

CH-774

561352

561353

ALUMINUM TYPE
YEAR DIRECTIONS
2005-2010  Front Left Lower
NAME DIRECTIONS
Ball Joint Front Lower
Control Arm Front Lower
Bushing Inner
Control Arm Front Lower
Bushing Inner
ALUMINUM TYPE
YEAR DIRECTIONS
2006-2011  Front Left Lower
NAME DIRECTIONS
Ball Joint Front Lower
Control Arm Front Lower
Bushing Inner
Control Arm Front Lower
Bushing Inner

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR GHEVROLET

OEMNO

15787556

OEMNO

25984680~ 26984681

15787555% 15767556*

1578756565 15787556*

ADAPTABLEFOR GHEVROLET

OEMNO

15787556

OEM NO

258964680%, 25964681*

157875565 15787556*

157875565% 15787556*



TEKNOROT REF: CH-1192 ADAPTABLEFOR GHEVROLET
Lateral Arm

Weight: 1161 Length: 579

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO
Rear Lower
MALIBU 6th Gen 1997-2005 Forward 22606761
TEKNOROT REF. CR-434 ADAPTABLEFOR GHRYSLER
Suspension Ball Joint

Weight: 0371  Length: 100,7  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PACIFICA 2003-2009 Front Lower KB0759, 4743476A1, 4743477A1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING &8 SUSPENSION PARTS

4 ; TXNOROT

TEKNOROT REF: DO-1897
Lateral Arm
Weight: 05  Length: 3676
MODEL NO BODY CODE
300 1stGen

TEKNOROT REF. DO-197

Lateral Arm

Weight: 05 Length: 3676
MODEL NO BODY CODE
CHARGER bth Gen

YEAR

2005-2010

YEAR

2005-2010

ADAPTABLEFOR CHRYSLER

DIRECTIONS

Rear Lower
Forward

OEMNO

68164784AA

ADAPTABLEFOR DODGE

DIRECTIONS

Rear Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

68184784AA



y
{5 TXNOROT

TEKNOROT REF.: DO-1897

Lateral Arm

Weight: 05  Length: 3676
MODEL NO BODY CODE
CHARGER 7th Gen

TEKNOROT REF. DO-197

Lateral Arm
o)
Weight: 05 Length: 3676
MODEL NO BODY CODE
300 2nd Gen

YEAR

2011-

YEAR

2011-2017

ADAPTABLEFOR DODGE

DIRECTIONS

Rear Lower
Forward

OEMNO

68164784AA

ADAPTABLEFOR CHRYSLER

DIRECTIONS

Rear Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

68184784AA



(\ TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT KEF: DO-358

Suspension Control Arm and

Ball Joint Assembly

<

\ .
/ffﬁ,m!

e

Weight: 4168  Length: 4305  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR
RAM 1500 4th Gen 2006-2010
COMPONENTS NUMBER NAME
<2 .
‘ 00-365 Suspension Ball
Joint
(]
’ 951346 Cantm/'Arm
& Bushing
L3
» S5 1347 Contro/'Arm
(&3 Bushing
-
951348 Cantm/'Arm
K Bushing
&

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

AWD

DIRECTIONS

Front Right
Lower

DIRECTIONS

Front Lower

Front Lower
Outer

Front Lower
Inner

Front Lower
Center

2020 January

ADAPTABLEFOR DODGE

OEMNO

66298346AB

OEMNO

68298346AB* 6629834 7AB%,
4877199AB, 556396377AB

68298346AB* 68298347A6*

68298346AB* 68298347AB*

68298346AB* 68298347A6*



{$ TEXNOROT 2020 Jenuery

TEKNOROT KEF: DO-358

Suspension Control Arm and
Ball Ja/htAssemb/y ‘,

Weight: 4188 Length 4305 Ba/tMetr/c MI6X1,5

Front Right

1500 2011- e 662983468
| COMPONENTS  NUMBER  NAME  DIRECTONS  OEMAD

4 * *

é s | ST | i | S

g 81345 C%’Zg %ﬁg mo| e 68298346AB", 6829834748

g} 81347 C%’Ltg %‘g mo| e 68298346A5". 6529634748

@ 81348 CUB’LZ %ﬁg (N 68298346AB", 6829834748

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 63




STEERING &8 SUSPENSION PARTS

g
\3 TeCNOROT

TEKNOROT KEF: DO-359

Suspension Control Arm and

Ball Joint Assembly

Weight: 4168  Length: 4305  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR
RAM 1500 4th Gen 2006-2010
COMPONENTS NUMBER NAME
<2 .
‘ 00-365 Suspension Ball
Joint
(]
’ 951346 Cantm/'Arm
& Bushing
L3
» S5 1347 Contro/'Arm
(&3 Bushing
-
951348 Cantm/'Arm
K Bushing
&

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

2020 January

ADAPTABLEFOR [JODGE
AWD
DIRECTIONS OEM NO
Front Left Lower 6829834748
DIRECTIONS OEM NO
- 668298346AB* 65298347A5*
487719948, 5539837748
Front Lower 66296346A5* 66298347AB*
Outer
Front Lower 66296346A5* 66298347A8*
Inner
Front Lower 66296346A5* 66298347A8*
Center



{$ TEXNOROT 2020 Jenuery

TEKNOROT KEF: DO-359

Suspension Control Arm and
Ball Ja/htAssemb/y ‘,

Weight: 4188 Length 4305 Ba/tMetr/c MI6X1,5

1500 2011- Front Left Lower 68298347AB
| COMPONENTS  NUMBER  NAME  DIRECTONS  OEMAD
4 * *
é s | ST | i | S
g 81345 C%’Zg %ﬁg mo| e 68298346AB", 6829834748
g} 81347 C%’Ltg %‘g mo| e 68298346A5". 6529634748
@ 81348 CUB’LZ %ﬁg (N 68298346AB", 6829834748

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 65




TE/L(NOIQOT IC\)E/: 00'375 ADAPTABLE FOR DDDGE
Suspension Ball Joint . _

& >

s o 888

Weight: 0452  Length: 841  Bolt Metric: M14X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
DAKOTA 2nd Gen 2000-2004  Front Upper K7392, 516638444
TEKNOROT REF: DO-375 ADAPTABLEFOR [JODGE
Suspension Ball Joint
Y | YEAR ONLY
A 2000-2003
sz §88
Weight: 0452  Length: 841  Bolt Metric: M14X1,5
MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
DURANGO 1st Gen 1998-2003  Front Upper K7392, 516638444

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1100
Suspension Ball Joint

o

[

Weight: 0549  Length: 84  Bolt Metric: 3/4-16UNF

MODEL NO BODY CODE YEAR

F-250 SUPER DUTY 1stGen 1999-2007

TEKNOROT REF. FO-1100
Suspension Ball Joint

O

[

Weight: 0549  Length: 84  Bolt Metric: 3/4-16UNF

MODEL NO BODY CODE YEAR

F-250 SUPER DUTY 2Znd Gen 2008-2010

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

4WD

DIRECTIONS

Front Upper

4wWD

ADAPTABLEFOR FORD

OEMNO

4037304508

ADAPTABLEFOR FORD

anuary

DIRECTIONS

Front Upper

OEMNO

40373043908



Py
\; TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1100
Suspension Ball Joint

Weight: 0549  Length: 84  Bolt Metric: 3/4-16UNF
MODEL NO BODY CODE YEAR
F-350 SUPER DUTY 1st Gen 1999-2007
TEKNOROT REF: FO-1100
Suspension Ball Joint
Weight: 0549  Length: 84  Bolt Metric: 3/4-16UNF
MODEL NO BODY CODE YEAR
F-350 SUPER DUTY 2nd Gen 2008-2010

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

4WD

DIRECTIONS

Front Upper

4wWD

DIRECTIONS

Front Upper

020 January

ADAPTABLEFOR FORD

ADAPTABLEFOR FORD

OEMNO

4037304508

e

OEMNO

40373043908



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF. FO-1100
Suspension Ball Joint

Weight: 0549  Length: 84  Bolt Metric: 3/4-16UNF
MODEL NO BODY CODE YEAR
F-350 SUPER DUTY 3rd Gen 2011-2016
TEKNOROT REF: FO-1134
Suspension Ball Joint
&
S
¢!
Weight: 0712 Length: 11975  Bolt Metric.: M14X2
MODEL NO BODY CODE YEAR
F-150 2015-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

anuary

ADAPTABLEFOR FOR[D
4wo
DIRECTIONS OEM NO
Front Upper 40373043908
ADAPTABLEFOR FOR[D
DIRECTIONS OEM NO
FL373078B* FL3Z3050A, FL3Z3050B,
Front Lower

FL3Z3079B*



T
\) TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: HM-203 ADAPTABLE FOR HUMMER
Steering Tie Rod FOR USE ON VEHICLES
WITH 14MM INR TIE RODS

TAAMAA

A e
!
i

| Jé';‘b

"i#:%r .
:/ Y
Weight: 0576  Length: 2692  Bolt Metric: M14X1,5  Housing Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
H3 2005-2010 Front 15217991
TEKNOROT REF: JE-354 ADAPTABLEFOR _JEEP
Suspension Ball Joint
@
J
soc  szzs 488
Weight: 065 Length: 825
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COMPASS 2017- Front Lower

66318010AD" 66318011AD*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\/) TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: S8 1131 ADAPTABLEFOR _JEEP
control Arm Bushing

Weight: 024  Length: 508

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COMMANDER XK 2005-2010  Front Upper 52090208A1*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

C JE-127 ng mﬁg’z\g’;ﬂ Front Upper 5209020641

TEKNOROT REF: SB 1131 ADAPTABLEFOR _JEEP
Control Arm Bushing e

Weight: 024  Length: 508

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GRAND CHEROKEE Il WH/WK 2005-2010  Front Upper 52090206A1
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

C JE-127 Ggg/mﬁ;rgjs’;d Front Upper 5209020641

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Py
\) TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: §B 1346 ADAPTABLEFOR JODGE

Control Arm Bushing 4WD
@
Weight: 0468  Length: 70
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RAM 1500 4th Gen oo06-2010 7 Ugﬁtgrwer 68296346AB% 68298347A8*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
P .
. € 00-358 Dontrq/ Arm & Front Right 6829834648
od” Ball Joint Assy Lower
& s
2 M =@
by D0-359 CONIOIATN & 1 o) ot | ower 6829834748
N Ball Joint Assy
-
TEKNOROT REF: SB 1346 ADAPTABLEFOR RAM
Control Arm Bushing
Weight: 0468  Length: 70
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
1500 2011- Front Lower 6829834648 68298347A8*
Outer
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
e ,
- 24 00-958 Control Arm & Front Right 6809834648
& Ball Joint Assy Lower
o
by 00-359 gc’”” OIATME | con et Lower 6829834748
g all Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Py
\> TeCNOROT

STEERING &8 SUSPENSION PARTS

)20 January

TEKNOROT REF: SB 1347 ADAPTABLEFOR JODGE

Control Arm Bushing 4WD
Weight: 0939 Length: 96
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RAM 1500 4th Gen so06-2000 " 0’; fégrwer 6829834648 68298347AB
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
(Y.
- 4 00-358 gontrq/ Arm & Front Right 6829834648
g all Joint Assy Lower
& s
2 M =@
by 00-359 CONrOIATM G| oo et L ower 6829834748
RNa Ball Joint Assy
e
TEKNOROT REF: SB 1347 ADAPTABLEFOR RAM
Control Arm Bushing
Weight: 0939  Length: 96
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
1500 2011- Fr 0’/75 rfgrwer 68298346AB% 6829834748
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
-
%' = '
- & 00-358 gontrq/ Arm & Front Right 6829834648
& all Joint Assy Lower
"
e & D0-359 gC’” WOIAME | cont 1 et Lower 6829834748
g all Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Py
\) TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: §B 1348

control Arm Bushing
~
Weight: 0945  Length: 96
MODEL NO BODY CODE
RAM 1500 4th Gen
COMPONENTS NUMBER
7
Yy vk DO-358
& £
n‘ M‘O
e V&4 00-359
g

TEKNOROT REF: SB 1348
Control Arm Bushing

& o
. S
Weight: 0.945  Length: 96
MODEL NO BODY CODE
1500
COMPONENTS NUMBER
7
o DO-358
& -
s~
e V& D0-359
e

YEAR

2006-2010

NAME

Control Arm &
Ball Joint Assy

Control Arm &
Ball Joint Assy

YEAR

2011-

NAME

Control Arm &
Ball Joint Assy

Control Arm &
Ball Joint Assy

4WD

DIRECTIONS

Front Lower
Center

DIRECTIONS

Front Right
Lower

Front Left Lower

ADAPTABLEFOR DODGE

OEMNO

682968346AB* 66298347AB*

OEMNO

68298346AB

68296347AB

ADAPTABLEFOR RAM

DIRECTIONS

Front Lower
Center

DIRECTIONS

Front Right
Lower

Front Left Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

66296346AB*, 6829634 7AB*

OEMNO

66298546AB

68296347AB



(\ TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1352 ADAPTABLEFOR GHEVROLET
control Arm Bushing

,\

Weight: 0264  Length: 132

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COBALT oo05-2000 " O’/Z égrwef 15787555* 15787556*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o b Suspension .
CH-1038 | conrolarmand | " ‘Z’; [Wi’ffh ! 15787555
@ Ball Joint
G e Suspension
CH-1039 Control Arm and | Front Left Lower 15787556
® Ball Joint
TEKNOROT REF. SB 1352 ADAPTABLEFOR CHEVROLET
Control Arm Bushing

Weight: 0264  Length: 132

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
HHR 15t Gen oo06-2011 " DZZL[;’;”BF 15787555% 15787556*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
s Suspension .
oH-1098 | controlArmand | ngiv/gfm 15787555
@ Ball Joint
@ e suspension
CH-1039 Control Arm and | Front Left Lower 15787556
® Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1353 ADAPTABLEFOR GHEVROLET
control Arm Bushing

~—

Weight: 0194  Length: 51

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COBALT oo05-2000 " O’/Z égrwef 15787555* 15787556*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o b Suspension .
CH-1038 | conrolarmand | " ‘Z’; [Wi’ffh ! 15787555
@ Ball Joint
G e Suspension
CH-1039 Control Arm and | Front Left Lower 15787556
® Ball Joint
TEKNOROT REF. SB 1353 ADAPTABLEFOR CHEVROLET
Control Arm Bushing

~—

Weight: 0194  Length: 51

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
HHR 15t Gen oo06-2011 " DZZL[;’;”BF 15787555% 15787556*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
s Suspension .
oH-1098 | controlArmand | ngiv/gfm 15787555
@ Ball Joint
@ e suspension
CH-1039 Control Arm and | Front Left Lower 15787556
® Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



